September 09, 2015

Weekly 3 Labor Day cc1 Name
TUESDAY]

1 |30-41] +6(3)= 2. 5-3(2(-4)-5(-2)) = 3.9- 33 1 4(s)=

4. Order the following numbers from least to greatest: -7.4, -6, 2, -8, -7.25,-5.5,4.5, 0, -5.58

5. Evaluate | ml -(-h) whenm=8andh=-11

7. Convert the following to fill in the tables.
6. -k should be read as

Fraction Decimal Percent
Underline each coefficient, circle eac and 10%
draw a box around each
Then substitute to evaluate. 0.097
8. 8 +4c whenc=-6 2003%
9. 7bw when b =-2 and w = -3 18.63
1
10. 25+ 2y wheny =-104 6
0.75%
11. 3+23+7)-3x4+3%= 12.  42-2x4+54-1)+6= 13. 10-2x3+18 =2+6x2=

P\ / P\ / P\ /

;}) / ;}) / E\ /

WEDNESDAY
1. -8(-2)-20 + (-7) = 2. (:2y = 3. 2(-1)(-3)(-2)(-10) =

Underline each coefficient, circle each constant, and

. C t the following to fill in the tables.
draw a box around each variable. 7._Convert the following to fill in the tables

Then substitute to evaluate. Fraction Decimal Percent
4. -8c¢ + 2k when ¢ = -5 and k =3 45.1
5
5. 4—1263;22 whene=-3and m= 6 83
0
6. 3gh+1wheng=-5andh=2 4.8%
0.8
9
11
19%
8. 30-35-1)+2+4x2= 9. 18+3x4-42+36-1)= 10. 72s-1)+5x2-1=

P\ / P\ / P\ /
E\ / E\ 7 N\ 7

"N— " .
AS AS AS

11. -5+ (-8)- 12 - (-6) = 12. 2(-4)(-6)(-1) = 13.81-102-(-9) +41 =
-2(-3)

14. (-1 +(-1)» = 15. -3(-5) + % = 16. 5(-2)(-5) =



September 09, 2015

[THURSDAY] - Evens [FRIDAY] - Odds

1. |55+12| -7(-3) = 2. 20=2(-2)+4(5-10)= 3. 5+3(1+28++34;2)=
4. -10(9-3x 5) + (-14) = 5. (-1)ys= 6. 8-11-(-5)-21=

7. Order the following numbers from least to greatest: -9,-14,9, 6, -8, 5, -10, -2, 7

8. Evaluate the additive inverse of y increased by the absolute value of p wheny =12 and p=-5

9. -(-8) should be read as

10. Convert the following to fill in the tables.

Fraction Decimal Percent Fraction Decimal Percent

T+ 20.008

0.59 132

50
45.6% 8%

2.5 9.1
il 13
20 8

0.7% 40.12%

Underline each coefficient, circle eac and draw a box around each Then substitute to evaluate.

11. 20p when p = -4 12. 8j+5whenj=-4

13. 6+57u when u = -6 14. 2m + 9k when m = 4 and k = -5
15. wﬁ when e =(-1) 16. 8ds whend = -5 and s = -2
17. 18 -9x2+410-7)+6= 18. 102-52x2+4-2x7= 19.

20 - 5x2+3(3%-4x5)=

P\ / P\ / P\

MD MD MD

2x3

2
8+5x3-3x2%= 21, 410-2)+3*-6x2= 22. 6+ 2L +3x6-1=

P\ / P\ / P\

MD MD MD

23. 7-4+6-(-10)= 24, 2(5)(A)(-1) = 25.-2+48-65-(-9) =

26. (1) + (-1t = 27. 9(-3) - % = 28. -3(-4)(-20) =
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